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Seventh Semester B.E. Degree ExaminQpt Jan./Feb. 2021

lndustrial Drives and Affiications
i%".*

Time: 3 hrs. *%"' Max. Marks:100
\

Note: Answer any FIVE full questions, seldffiflg atleast TWO quepffifrom each part.
=*# "%l

La.
b.
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PART. A
With a neat block diagranl exp .rr.rtiut purts of eles*ffi*Snrl drives.

7,-1 - - -r-,--6 -H \
(08 Marks)

What are the advantages of a drive system?
A motor drives two loads.
reduction gear with a = 0.

Explain

/ tuv urvLvr. 
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of motor duty with*its block diagram and applications. (10 Marks)

and the motor hnp-upf%frciency of 85o/o. Motg. t6s a, inertia of 0.2kg1* and runs at a
constant speed*ffi S20 rpm. Determine e*4riv5lent inertia referred to the motor shaft and
power develop'el@ the motor. Jiqri::* (08 Marks)

"\ {a {.=ir+*

reduction gear with a = 0.L'**d efliciency of g}WTlb load has a moment of inertia of
10kg-m2 and a torque oftffiN-m. Other hand loadpf translational motion and consists of
l000kg weight to bdffifrdfl up at an uniform spfu&Uf l.Sm/s. Coupling between this load
md the motor has a#%fuiciencv of 85o/o. Motor t6s an inertia of 0.2kdm2 and runs at a

2a.
b. With W llp of quadrant diagra&&#plain the four - qqg-*an operation of a motor driving

a ho*q$;loaiJ. ;*;) ry (10 Marks)
sl il"ir= ,''

a.

b.

c. Wit ic equi
with armature control,'qY,, 
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b. Explain t fruadrant
r-

i-**u'r .:r (08 Marks)
A230V,960 rprn,200*."teparately excffiingibrhas an armaturd resistance of 0.02C1. The
motor is fed Aora*a droppei which provffi.d dynamic braMwith a braking resistance of
2o-. "":.. 

" *. 
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*i) Calcuhtdds$ ratio of chopffi a motor speedpf600 rpm and braking torque of

,*

*ffimJ"*
# i..:;' ffiv
pnd waveforms, effidin the operation of continuous conduction mode

ifiet control of DC separately excited motor. (10 Marks)
of DC separately excited motor fed from Fully

(10 Marks)

5a.
b.

' * * PART-Ba

Explain the regenerativeffi?Elliing and AC dynamic braking of an Induction motor. (08 Marks)
A2200V,2600 KW, 735 rpm , s}bz,8 pole , 3 - phase Squirrel - cage Induction motor has

following paramelergareferred to the stator.

Rs = 0.0750 **= ', = 0.1C) , Xs = 0.45O , X', : 0.55 C). Stator winding is delta
connected ffiCbnsists of two sections connected in parallel. Calculate starting torque and

maximum tor{rld as a ratio of rated torque, if the motor is started by Star - Delta switching.
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7a.

b.

c. Explain the Star - Delta starter starting method of I tor.
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(06 Marks)

lain the operation of voltage source

dryryfu (06 Marks)
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rr'*tlrive

(10 Marks)
(10 Marks)

inverter drive system. w- 
*k (08 Marks)

Draw aneatcirtuit affangement of static- Sc[ffis drive, explain its iqportanc". 
199 Y*I.l

Explain the static rotor resistance control.fu,*
#1&J

With a neat circuit diagram and relevant wa

** d w 
"-::".

8 a. Explain the various r*q#h paper mill and motgffi in various stages.

b. expUin the operatioribifrtrives in a cement mill- "T;1
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